Panasonic

INSTRUCTION MANUAL

No Dead-Space Beam Adjustment Mounting Bracket
MS-SFD-3-6

MJE-MSSFD36 No.0099-12V

Thank you very much for purchasing Panasonic products. Read this Instruction Man-
ual carefully and thoroughly for the correct and optimum use of this product. Kindly
keep this manual in a convenient place for quick reference.

/A\ CAUTION

Risk of injury and product damage if this product falls or is dropped. Exercise cau-
tion when handling this product.

El CONTENTS OF PACKAGE

[ Main unit:
[ Instruction Manual (English / Japanese)

1 set of 4 pcs
1 pc.

E MOUNTING

1. Mount on the mounting surface with two hexagon-socket head bolts [M5 (purchase
separately)] or two hex bolts [M6 (purchase separately)]. Tighten sufficiently to
prevent the product from falling (do not overtighten).

Open mounting holes in the product in a straight line as indicated in “H
DIMENSIONS”.

<Rear mounting>

Hex bolt
[M6 (purchase separately)]

Hexagon-socket head bolt
[M5 (purchase separately)]

<Side mounting>

Hex bolt
[M6 (purchase separately)]

Hexagon-socket head bolt
[M5 (purchase separately)]

<Reference>
If mounting the product on a commercially available aluminum frame, using non-
slip nuts (purchase separately) will facilitate mounting.

2. Partially loosen the hexagon-socket head bolt (M5, black) for light curtain fastening.

Do not remove the hexagon-socket head bolt (M5, black) that fastens the light cur-
tain from this product.

Hexagon-socket head bolt
for light curtain fastening
(M5, black)

3. While pushing the light curtain against the hexagon-socket head bolt side, mount
the product. Make sure the slot in the light curtain is locked onto the tab on the
product.

Do not mount the product on the cap (black part) of the light curtain.

Light curtain Hexagon-socket head bolt

This product

=

=

Slot Tab Check if locked

/A\ CAUTION

In step 3, the light curtain is not yet fastened. If you do not maintain a firm grip on
the light curtain, it may fall and cause injury or product damage.

4. Fasten with the hexagon-socket head bolt (M5, black) for light curtain fastening.
Tighten to a torque of 2N-m or less.

Hexagon-socket head bolt
for light curtain fastening
(M5, black)

V\

Light curtain

/A\ CAUTION

Firmly fasten the light curtain to the product. Risk of light curtain falling and causing
injury or product damage.

5. Tighten the hexagon-socket head bolt (M5, silver) for beam adjustment.
Tighten to a torque of 2N-m or less.

Hexagon-socket head bolt (M5,
silver) for beam adjustment

A

Light curtain

il
I
K
M

6. Fully tighten the two hexagon-socket head bolts [M5] or the two hex bolts [M6]
you partially tightened in step 1.

El REMOVING THE LIGHT CURTAIN

1. While holding the light curtain, partially loosen the hex-socket head bolt (M5,
black) for light curtain fastening.

Hexagon-socket head bolt
for light curtain fastening
(M5, black)

haS

Light curtain

/A\ CAUTION

If you loosen the hex-socket head bolt (M5, black) for light curtain fastening without
holding the light curtain, there is a risk that the light curtain will fall and cause injury
or product damage.

2. While pushing the light curtain against the hexagon-socket head bolt side, remove

the product.
LiT‘cunain

Hexagon-socket head bolt
This product

1 BEAM ADJUSTMENT

1. Loosen the hexagon-socket head bolt (M5, silver) for beam adjustment, and ro-
tate the emitter and receiver to adjust the angle.
The emitter and receiver can be adjusted within a range of +7.5°.

e Do not remove the hexagon-socket head bolt (M5, silver) for beam adjustment
from this product.

e [f it is difficult to rotate the emitter or receiver after loosening the hexagon-socket
head bolt (M5, silver) for beam adjustment, loosen the hexagon-socket head
bolts [M5] or hex bolts [M6] that fasten the product to the mounting surface.

Hexagon-socket head bolt (M5,
1 silver) for beam adjustment

\Lighl curtain

2. When you have completed beam adjustment, tighten the hexagon-socket head
bolt (M5, silver) for beam adjustment.
Tighten to a torque of 2N-m or less.

H DIMENSIONS (Units: mm)

22 22
%‘ 5
: a ] ( 8 2-09
/
] ! i
D{ © © J‘ } /,*‘/
) © © 4
hl - o U IL'W 2_855
. H o & ol 1G4 s
]
) ._I_Lg_ﬂrﬂ
D1 f} FO
A S
22 d i) = Sl
View of arrow A View of arrow A
4.4
Ju| Ol
N 8 f
N & ©
. =2
N 28 13
47 View of arrow A
Material: Zinc die casting
e Mounting on SF4D Series Light Curtain
22 ”El 22 \H EL 22 \Lﬂ 22
s © | o Bt hes) o= B o | © UD:[‘
i 5 {lill's in! T AlE s I e
e 2 ES=qIEIREIE =- - ¢ S B
< © Y o < LR < L <l Y o
w ‘%‘:‘J ~ ] N~ ~ ® w (=] <~ ~ ~ t%
| | , |+ 4 | !
d . 1] H & s i - H
= O e — — = o ——
grad | 2085 _ ,j t, _ Esime
41 [ k= N £ S I r
%ﬁ | g o s 7] B = 13
< < I=
i < g 2 < BT [
(1] 7 : w ]
5 5
Tl i %) (%) Ml I
| ‘ 2 4 aeil I il ]
A i o f e
= o A = A AT [§) =
1 I
M= =- = = 1L
%ﬁ J N i ﬁ
y E '}
] l z ad el z i
e d s = 5 s misiiy Emim:
i o O & M AT & 0 e M
[i==| (I K3 a] [ar= K3 = 1]
T30 28 9 = = 9 28 30, []
&EJ : i ijﬁ
w w >
25.7 Gray cable ©5.7 Gray cable (with black line)
4.4 44
ﬁ@ I;Uh
| I/ | < @ | \ |
© @
” =1 & ° oy & ]‘ ’
¥ J 28 28 L ¥
47 47
<Emitter> <Receiver>
A
Model No. SF4D-Fo(-01) B C D |Count Type E F
SFADHo(o1) | SFAD-AS(01)
SFAD-F15(-01) | SF4D-H8(-01) | SF4D-A4(-01) 140 120 150 o 75| 1 SF4D-Fo(-01) 10 5
SF4D-F23(-01) | SF4D-H12(-01) | SF4D-A6(-01) 220 200 230 94 68 SF4D-Ho(-01) 20 5
SF4D-F31(-01) | SF4D-H16(-01) | SF4D-A8(-01) 300 280 310 | 110 100 SF4D-Ac(-01) 40 15
SF4D-F39(-01) | SF4D-H20(-01) | SF4D-A10(-01) 380 360 390 | 160 | 115
SF4D-F47(-01) | SF4D-H24(-01) | SF4D-A12(-01) 460 440 470 | 200 135
SF4D-F55(-01) | SF4D-H28(-01) | SF4D-A14(-01) 540 520 550 | 250 150
SFAD-F63(-01) | SF4D-H32(-01) | SF4D-A16(-01) 620 600 630] 200 | 170 |
SF4D-F71(-01) | SF4D-H36(-01) | SF4D-A18(-01) 700 680 710 | 340 185
SF4D-F79(-01) | SF4D-H40(-01) | SF4D-A20(-01) 780 760 790 | 380 | 205
SF4D-F95(-01) | SF4D-H48(-01) | SF4D-A24(-01) 940 920 950 | 470 | 240
SF4D-F111(-01) | SF4D-H56(-01) | SF4D-A28(-01) 1,100 1,080 1,110 | 560 | 275
SF4D-F127(-01) | SF4D-H64(-01) | SF4D-A32(-01) 1,260 1,240 1,270 | 650 | 310
- SF4D-H72(-01) | SF4D-A36(-01) 1,420 1,400 1,430 | 730 | 350
SF4D-H80(-01) | SF4D-A40(-01) 1,580 1,560 1,590 | 530 | 265
SF4D-H88(-01) | SF4D-A44(-01) 1,740 1,720 1,750 | 590 | 285 3
SF4D-H96(-01) | SF4D-A48(-01) 1,900 1,880 1,910 | 650 | 305

Panasonic Industry Co., Ltd.

1006, Oaza Kadoma, Kadoma-shi, Osaka 571-8506, Japan
https://industry.panasonic.com/

[ Please visit our website for inquiries and about our sales network.

Panasonic Industry Co., Ltd. 2024

April, 2024

PRINTED IN JAPAN



Panasonic

Ty RAR—Z L RAAEHFAERRFEE
MS-SFD-3-6

IO, AT Y=y 7/ EBEHO EFWEREE HUnE ) TENET,
CHEMORNC Z OBBHIAEZ &< BRACRY . ELL Sl R AT IR
Sy,

i, Z OBHRHAEFITRINCRE LTS,

=
NGEE
AR ERTECRE. T AELENANRET HBINNHYET, ANROD
BB E OB EE L,
0 maymorEs:

O &K
O EiRERBAE (BB X

ME1EY b+

=) 18D

2 B RGHTS

1. RV B [MB Gl SHE < 72 &) J2AR S 72138 A AL | [M6 (Gillig 21
BLESW) I 2RTIRY AHTHEICRE L T ZS W, OB, ARMBET LR
W E THEEL TS ZEN,

AHESGAORYFFRIZOVWTIEIE AHERIZSBL, —ERLEICESELS

[SMILTLEEL,

<EBEE®RYFITDHE>

AR b
[M5 (Rl CRABCZELY)]

RARIL -
[M6 (Bl CREL £2&LY)]

<@EE=RYFIFD5EEe>

ARARERL ~
M5 (Bli& CRABCZELY)]
N

RARL -
[M6 (Bli& CABC2ELY)]

<sE>
AUBETHROTILI TL—LICRYFITEHE, I YiEHT v ~GBIEIHAE
KEEWEFERATHCETMYMEALPTSBYETS,

2. 7A =T YEERARARARL (M5, BE) 2R VEREE TR £,

F4 b A—TUBEAERKRANMSRIL (M5, BE) X, XEENMSIMYNSHNT
(&L,

54 bh—TUEER
RARFERIL ~
(M5, &)

3. T A M —T v ERAIAER MU LY TR0 5 AR 5 F9,
TAMI—=T DIV BRERBGOY A5 oo TS Z L& TR IE S0,

AERE, T4 bH—ToOF vy TEHER) (ZE. MYMFTENTIEEL,

A bh—TY RARERL

IV YA Bl 2 T B HEER

=
NEE
FIRDBATIE. 54 FH—F VAR SATONELA, 54 FH—FUMBTE
EMTEETL. AR ENEAHIET 2B ThAHY 1,

4. 74 M —T VETERARAIASA L S (M, BE) THEELET,
ZDLEOFEOMT P71, 2N-mBAITFE LTSS,

AFE

AERBIZSTA PA—TUELO>AYEBELTLESE W, 54 bH—FTUAET
L. TAFRESKHSBIBT BTN HYES,

5. CHIFRAE IS A 7 AL - (M5, 816 2 [EE L £,
ZOLEZOREDT P27 1E, 2N-mEITE LT ZS0,

SRR AR
ARIL b (M5, $RE)

6. FIATDRA AR N IMBI2AFE 7o lE ARV~ [M6] 24 % Affisd L CEE L
TLIZEY,

H>4 rh—Fo0mysL

1. 74 MI—T 2o 12REET, T4 MU —TF CEEMAARMR L~ (M5,
) ZANIR O E TRD £,

AFE

FAMA—ToEHETIZSA FA—TUVEERAANRMGRIL L (M5, BR)%HE
HBE. FAMH—TUNETL., YAELBEENHEETIETALHY ET,

2. 74 =T mARATRMRL MU LS TRN O ARG NSIY S LET,

NARARIL b
ARG

SAbh—F

4 B FCE

1 EBFREE AR AL b (M5, $6) 20, oS X OB E MG S
TR TRREL T S0
FORmE LUk % £ 75 ORI TS 5 2 L ATE R

o NEFAEANANMAARIL b (M5, BE) (X, RESGHSBMYNSHNTIEEN,

o SEFABANBIUTIARIL b (M5, RB) EEHTHLIRARFLIIZAB/ANEEL
DSHWEER, ABRKERY A HFEICEE L TOEIAARTARIL FIME] FE =
[FARAARIL FIME] EHEH T I,

SeEmEREE AAB U
AL~ (M5, ERE)

54 bh—TY

2. LHFAEE e . LGRS AR L S (M, dRE) 2O AT E T
ZOBEOREDAT P27 i3, 2N-mEIF L LTS &N,

~ &
H 5tk E (B4L : mm)
22 22
2
%X‘ ) ( 8| 9.5
g Fao0®
T f i 4—/
D1 Q Q I 2% 3
hl)_L, ’—\_F‘\_H 2_855
5 H o o ol E
n
) ._I_\;g_lrﬂ
D T T )
[ L 7 T
o T — e
'LM‘ d ) — Sl
AEHR AR
44
g g
N 3 f
N ] )
. e
N 28 13
e AR
W BRA DR b
o 54 hH—TFTUSFADY ) —XEFER
22 ’(ﬂl 22 \H FLLL. 22 \Lﬂ
o= 6 . o ol “m o= R o = © C'D:J
i 8 ¢ il 1 I 52 8 & I
A i £ == i3 T
%4 ‘ wile I il I L%%
J L
w] © Y o « i, e « < < i : <] o ©
w %—J ~ ‘ N~ < ® w0 o o < ~ ~ t%
] 3 I I el | i
EIE I *1 ﬁ* i SaIii
= 8} s = -~ = [$) —
i 2-952 il I A
= = = =
J%!" I A o 8 _ & |l |
iy ui
y s H H L
L] ‘ [ g L : j L
a N I o i E
] * I el il i
HE = R= i S
L 1 Iy
~—~ o = -, o~ = o L
1 I
A& =- - IS
%, | 4 # Sl ,ﬁ
] ! [ L} j 1]
%{ w R | Pt R h f%
e N = - N H 1B
S, a Y] — I~ U ] N
| o LA+ = [ o g LH a N
[in== Bl o] ® [si==! o EHH i3]
J1.30 28 2 ‘:1 JF 2 28 30 [
&a' w w %
05. 7T r— Tl 05.7RE—TIL(B5A 2 A)
4.4 44
) (]
[ p— —qd [
1 © © T
8 = & gy R ,‘ &
= 28 28 -
47 47
<$HFHH> <ZHH>
A
L2 FO - B | C D : 7 E F
BaA% :gg_:gi_g}; SF4D-AC] (-01) B fd
SF4D-F15(-01) | SF4D-H8(-01) | SFAD-A4(-01) 140 120 150 o] 75| 1 SF4D-FOI(-01) [ 10 5
SF4D-F23(-01) | SF4D-H12(-01) | SF4D-A6(-01) 220 200 230 94 | 68 SF4D-HO (-01) | 20
SF4D-F31(-01) | SF4D-H16(-01) | SFAD-A8(-01) 300 280 310] 110 | 100 SFaD-AD(-01) | 40 [ 15
SF4D-F39(-01) | SF4D-H20(-01) | SF4D-A10(-01) 380 360 390 160 | 115
SF4D-F47(-01) | SF4D-H24(-01) | SF4D-A12(-01) 460 440 470 200 | 135
SF4D-F55(-01) | SF4D-H28(-01) | SFAD-A14(-01) 540 520 550 | 250 | 150
SF4D-F63(-01) | SF4D-H32(-01) | SFAD-A16(-01) 620 600 630 200 | 170 |
SF4D-F71(-01) | SF4D-H36(-01) | SF4D-A18(-01) 700 680 710 | 340 | 185
SF4D-F79(-01) | SF4D-H40(-01) | SFAD-A20(-01) 780 760 790 | 380 | 205
SF4D-F95(-01) | SF4D-H48(-01) | SFAD-A24(-01) 940 920 950 | 470 | 240
SF4D-F111(-01) | SF4D-H56 (-01) | SF4D-A28 (-01) 1,100 1,080 1,110] 560 | 275
SF4D-F127 (-01) | SF4D-H64 (-01) | SFAD-A32(-01) 1,260 1,240 1270 | 650 | 310
- SF4D-H72(-01) | SF4D-A36 (-01) 1,420 1,400 1,430 | 730 | 350
- SF4D-H80 (-01) | SF4D-A40 (-01) 1,580 1,560 1,590 | 530 | 265
- SFA4D-H88 (-01) | SF4D-A44 (-01) 1,740 1,720 1,750 | 590 | 285 | 3
- SF4D-H96 (-01) | SF4D-A48 (-01) 1,900 1,880 1,910] 650 | 305

NFIZvT A VI AMU—RARH

T571-8506 AKRAFIEHAFFIR10068
https://industry.panasonic.com/
<FATIN\A ZBAES B O >

TEL : 0120-394-205

ZE | FEOIR~128, 138~178K(TBHRE. $XRFHL. SHREBZR<)

Panasonic Industry Co., Ltd. 2024
2024F4BHAT

PRINTED IN JAPAN



